K5 ETREBRBITH A AEGFHR

3 K
% pH DO(mg/L) COD (mg/L) 4y (mg/L) KNI B (CFU/100mL)
il = KE A ML LT

o o BT F | wehik | m o/ on | RARK |mo/on e RORK | m /on T I T T T s R e Bl Bl B T = R AR T
Y = 5 T EE + RSt - 1 605 - 1| A [A]| 80 |~[83 |0 ]|/|12]| 6.6 [~| 11 |2 |/|12]| 86 | 1.5 |~ 40| 4 |/|12| 1.5 |~| 40 | 4|/]|12] 33 | 2.0 | 1.9 | 2.1 <0.5 0/ 21405 <1 |~] <1 |o0o]|/|4]| <1 |~ <t |O0]/]|4]| O <1 <1
F7 = B TR + E I St-2 605 - 2| A || 81 |~| 830 |/|12] 77|~ 98 |0 |/[12] 88 | 15 |~| 27| 1|/|12| 15 |~|27|1]|/]|12|83 |19 19| 1.9 <0.5 0/]2]<05| <1 |~ <t [0]|/|4] <1 |~ <t |[0]|]/|4] 0 <1 1
¥ = 5 L E +JEUESt-3 605 - 3| A|A| 81 |~|83|0|/|12|75|~|98|0|/|12|88 | 14 |~|30]|1|/|12| 14 |~|30]|1]|/|12]83 | 18] 1.7 ] 1.8 0.5 0 /] 205 <1 |~ <1 |Jo]|/|4] <1 |~ < |o|/|4a] 0 1| «1
7 = 5 T EE + RSt -4 605 — 4| A || 81 |~| 830 |/|24]| 71 |~ 98 |2 |/|24] 87| 15 |~|3.1|5]|/|24| 15 |~[3.13|/]|12|25 |19 18] 2.0 0.5 0/ 21405 <1 |~] <1 |o]|/|4]| <1 |~ <t |O0]/]|4] 0 <1 <1
Y = 5 T EE + RISt -5 605 — 5| A |A| 81 |~[83|0]|/|24| 77 |~| 10 |0]|/|24]| 89 | 1.4 |~|3.1|4/|/|24| 14 |~31]2]|/|12] 17 | 19| 18] L8 <0.5 0/ 25| <1 |~ <t [0]|/|4] <1 |~ < |0]|/|4] 0 <1 <1
7 = 5 T ER +JEUESt-6 605 — 6| A |A] 81 |~| 830 |/|24| 70 |~| 10 |4]|/]|24]| 87 |14 |~|30]|3]|/|24| 14 |~|30]2]|/[12] 17 |19 1.8] 1.9
R RS 1 HE T E e St- 8 606 - 1| C || 81 |~ 85| 4|/]24] 81 |~| 12 [0]|/[24] 98| 1.4 |~ 41]|0[/]24] 1.5 |~[37]0]|/[12] 0 2.2 | 2.0 | 2.4
Bk (F) PR St-10 607 - 1| C |m| 7.9 |~| 83 |0 |/|24| 69 |~| 10 |0 |/|24] 91| 1.3 |~|36]|0]|/|24] 14 |~|34]|0]|/|12] O 2.2 | 2.1 ] 25
PR B E RS t-5 608 — 1| B || 81 |~| 83 |0 |/|24| 7.1 |~| 10 | O |/|24] 9.1 | 1.3 |~| 32| 1|/|24]| 14 |~|30]|0]|/[12] O 1.9 | 1.7 | 2.0
R () eI S t- 7 609 - 1| B |=| 81 |~| 83 |0 |/|24| 80 |~| 10 |0 |/|24] 93|15 |~|32|1/|/|24]| 16 |~|31]|1]|/|12]83 |22] 21| 2.3 0.5 0/] 2]<0.5
Bk () B E I St-9 609 - 2| B |m| 81 |~| 83 |0 |/[24] 7.7 |~| 10 |0 |/|24] 93 | 1.4 |~| 3.1 |1 |/|24] 1.5 [~[3.0]0]/]12] 0O 2.1 | 1.9 ] 2.1 0.5 0/ 2]¢<0.5
R () e e St-11 609 - 3| B |w| 79 |~| 84 | 1|/|24]| 79 |~ 10 |0]|/|[24]| 92| 16 |~| 33| 2|/|24]| 1.6 |~|32|1]|/[12]83 | 21|20/ 2.0
v () BRI St - 1 610 - 1| A |=| 81 |~| 82 |0 |/|24| 72 |~ 13 |1 |/]24] 9.0 | 14 |~|22]|3|/|24| 15 |~|22|2]|/|[12| 17 | 18| 1.8] 1.9 <0.5 0 /] 205 <1 |~ < |Jo|/|4] <1 |~ <|o|/|4a] 0 1|«
e (79) R St -2 610 — 2| A |=| 81 |~| 82 |0 |/|24| 68 |~|96 |4 |/|24]| 87 |14 |~|24]|4]|/|24]| 14|~ 24]3]|/|12] 25 | 1.8 1.7 ] 2.0 L |~ 4 o/ 4] <1 |~ 4 [of/|4a] 0 2 4
B () B E IS t- 3 610 - 3| A |u| 81 |~| 82| 0|/|24]| 73 |~|97|1]|/[24]| 88| 1.4 |~| 239 |/|24] 1.4 |~22|4]|/[12]33 | 19| 19| 2.2 <0.5 0 /] 2]<05| <1 |~ <1 |Jo|/|4] <1 |~ < fo|/|a] o0 |«
v (9) BRI St -4 610 - 4| A |=| 81 |~| 83 |0 |/|24| 75 |~| 10 |0 |/|24] 93|13 |~|26]|7|/|24]| 14|~ 25]|4]|/[12]33 | 1.8 1.7] 2.1 <0.5 0 /] 2]<05| <1 |~ <t |Jo|/|4] <1 |~ < |o|/|4a] o0 1|«
R v (79) RISt -6 610 - 5| A |=| 81 |~| 83 |0 |/|24| 7.7 |~ 11 |0 |/|24] 91|14 |~|26]|9]|/|24]| 15 |~|25]|5]|/[12| 42 | 19| 1.8 2.1 |~ <t o/ 4] <1 |~ <x|of|/|4a] 0 <1 | <1
B () BRI St-12 610 - 6| A |=| 81 |~| 83 |0 |/|24| 78 |~ 11 |0 |/|24] 93| 14 |~|28]|6|/|24]| 15|~ 273 ]|/[12] 25 | 2.0 2.0 2.0 A |~ < lo|/[4] <1 |~ <t |o]|/]4a] 0 < | <
v () BRI St- 14 610 - 7| A |u| 81 |~| 82| 0|/|24]| 7.0 |~|95 4| /|24 86 | 13 |~| 21| 2|/|24]| 1.4 |~|21|1]|/|12]83 | 18| 1.8 1.9
TP ARV S L T e () | 78 SRSt -5 611 - 1| C |A] 8.0 |~| 83 [0 |/|24]| 6.7 |~ 12 |0 |/|24] 88| 1.7 |~]40]|0]|/|24] 1.7 [~[32]0]|/[12] 0O 2.2 | 2.1 ] 2.3
BT HE T S AL B T HE (2)) | P8 SISt -6 612 - 1| B |=| 81 |~| 82 |0 |/|24| 62 |~| 10 |0 |/|24]| 86 | 1.7 |~|39|2|/|24]| 18 |~|38]|1]|/|12]83 | 23] 21] 2.3 0.5 0/] 2]<0.5
VR () V5 S St- 1 613 - 1| B |u| 81 |~| 84 | 4|/|24| 7.7 |~| 13 [0 /|24 94| 15 |~|32]|2|/|24] 1.6 |~|32|1]|/[12]83 |22 22] 2.3 <0.5 0]/ 2]<0.5
6 ik () 76 S St -2 615 - 1| A |=| 81 |~| 85 |2 | /24| 76 |~| 11 |0 |/|24]| 94| 1.5 |~| 3.4 |11|/|24]| 15 |~|34]|6]|/|[12]50 |22 2.1 2.3 <0.5 0/ 2]<05| <t |~ 2 Jo|/|4] <1 |~ 2 [0o|/|4a] 0 1 2
6 Sk (79) V6 S vtk St- 3 615 - 2| A |=| 80 |~| 83 |0 |/|24| 70 |~| 10 |5 |/|24]| 88| 1.6 |~| 3.6 |10|/|24]| 16 |~|36]|5]|/|12] 42 |22 1.9 2.3 0.5 0 /] 205 <1 |~ 2 Jo|/|4] <1 |~ 2 [0o]|/|4] 0 1 2
EESBEEAG)) VG Sl St-7 615 — 3| A |m| 79 |~|83|0|/|24]| 69 |~| 10 |4 |/|24]| 86| 1.6 |~| 25 |10|/|24| 1.7 |~|25|5]|/|12] 42 | 2.1 ] 2.0 2.3 <0.5 0/ 2]<05| <1 |~ 2 Jo|/|4] <1 |~ 2 [of/|4a] 0 2 2
6 ik () 7 50 St- 8 615 - 4| A |u| 81 |~| 83| 0|/|24]| 78 |~| 10 |0 | /|24 89 | 13 |~|22|5|/]|24]| 1.4 |~|22|2]|/|12| 17 | 18| 1.8 1.9
PP X P URESt-4 616 - 1| C |A| 7.5 |~ 83 [0 |/|24]| 6.6 |~ 10 | 0| /|24] 86 | 1.7 |~]35]0]|/]|24] 1.8 [~[31]0]|/[12] 0O 2.2 | 2.1 ] 2.2
TR () WP YR St-2 617 - 1| B |=| 81 |~| 82 |0 |/|12| 76 |~| 10 |O|/|12]9.0 | 1.7 |~|39 |1 |/|12| 17 |~|39]|1]|/|12]83 | 23] 22| 25 0.5 0/] 2]<0.5
T () WPV St-3 617 - 2| B |u| 7.2 |~| 82 | 1 |/|24]| 6.4 |~| 11 |0 | /|24 83 | 1.7 |~| 36| 2|/|24]| 1.8 |~|36|1]|/[12]83 | 23|22 2.3
YR (2) PR St-6 618 - 1| B |=| 81 |~| 82 |0 |/|12| 68 |~| 10 |0 |/|12|86 | 1.6 |~|36|1|/|12] 16 |~|36]|1]|/[12]83 |22 2.1 2.3 <0.5 0/] 2]<0.5
v () WP RSt 1 619 - 1| A |A] 80 |~| 82 |0 |/|24| 7.0 |~| 10 | 3|/|24]| 86 | 14 |~|27|7|/|24| 15 |~|27|4]|/|[12]33 | 20| 20 2.1 0.5 0 /] 205 <1 |~|] 4 |0o]|/|4] <1 |~ 4 [0o]|/|4] 0 2 4
TR () WP St-5 619 - 2| A |4 80 |~| 82| 0|/|24]| 68 |~| 10 |3 |/|24]| 87 |15 |~| 26| 8|/|24] 1.6 |~|26|4]|/[12]33 | 2.0 1.9 2.2 <0.5 0/ 2]<5| <1 |~ 2 Jo|/|4] <1 |~ 2 [o|/|4a] 0 1 2
T () WPV St-8 619 - 3| A | A 81 |~| 85| 2|/|24]| 76 |~| 11 |0 | /24|90 | 1.4 |~| 3.1 |6]|/|24]| 1.5 |~|31|3]|/[12]25 |20 19| 2.0
AT JE ey RSt 7 620 - 1| B |m| 8.0 |~| 83 [0 |/|12] 63 |~ 10 | O |/|12] 87 | 15 |~]27]|0]|/|12] 15 |[~27]0]|/[12] O 2.1 | 2.1 ] 2.2 0.5 0/] 2]<0.5
— PN () ALV St-5 621 - 1| C |a| 7.8 |~| 81 |0 |/|12] 48 |~| 82 |0 |/|12] 65 | 0.7 |~| 3.6 | 0| /|12 1.2 [~[29]0]/]|6]| 0 2.1 ] 22| 2.5
— N () ALV S t-6 622 - 1| B |A| 80 |~| 81 |0 |/|12| 58 |~|86 |0 |/|12] 73|06 |~|25|0]|/|12] 08 |~|22|0]|/[6] O 1.6 | 1.6 | 2.1 <0.5 0f/]6]¢<05
7 H AT () ALk St-9 623 - 1| C |m| 81 |~| 81 |0 |/|12] 6.1 |~[87]0]|/|12] 75|05 ]|~|] 1.8]0]|/]12] 09 |[~[18]0]|/[6] 0 14| 14| 1.7
= HEARED (2) AL St-10 624 - 1| B |m| 81 |~| 81 |0 |/|12] 64 |~ 87 |0 |/|12] 75|05 |~ 19]0]|/|12[ 05 [~ 1.7]0]/]6]| O 1.2 | 1.3 | 1.7 <0.5 01]/] 6]<0.5
sk ALV St -2 625 — 1| B |=| 79 |~| 81 |0 |/|12| 58 |~| 84 |0 |/|12] 70| 07 |~|28|0/|/|12] 09 |~|24|0]|/|6] O 1.7 ] 1.8 | 2.1 <0.5 0f/|6]¢<0.5
FA LIS A LM St-8 626 - 1| B |m| 81 |~| 81 |0 |/|12] 66 |~| 87 |0 |/|12] 75| 06 |~| 18| 0| /|12] 0.7 [~] 15| 0]/|6]| O 1.1 | 1.1] 1.4 <0.5 0f/]6]¢<05
FARTHE KARMEEESt-3 627 - 1| B |m|[ 80 |~|81[0|/|8|68[|~[94]0]|/|8]79[10]|~]1.7]0]|/]8]10(f~[15]0]|/[4] 0 1.3 14| 15 <0.5 0/] 2]<0.5
8 —x W7 e KVE - F v St-1 | 628 - 1| A || 80 |~[81|0]|/|8|T74|~93|1]|/|8]|82|1Ll]|~|15]|0f|/|8]|12]|~15]|0|/[4] O 1.4 | 1.5 | 1.5 0.5 Of/|2]<5] <1 |~] 3 [o|/|2] <1 |~ 3 [0]/]2] 0 2 3
T W7 e K - g v St-2 | 628 - 2| A [/ 80 (|~[81|O0]|/|8|75|~93|0]|/|8]|84|12]|~19]|0|/|8]|12]|~18|0|/|4] O 15| 1.5 | 1.5 <1 [~ 68 |1 ]|/]2]| <t |~ 68 |1]|/|2] 50 35 | 68
7 W7 RKVE - S ESt-3 | 628 - 3| A A 80 |~|81 |0 |/|8| 73 |~l91]|2]|/|8|82|12|~|16|0|/|8| 12|~ 15|0|/|4] 0 1.4 | 15| 1.5 <0.5 0/ 2]<05| <1 |~| 3 0/ 2] <1 |~| 3 of/[2] 0 2 3
7 W7 e KVE - F RV St-4 | 628 - 4| A |/ 80 |~[81|0]|/|8|T72|~l94|2]|/|8|84|12]|~|15]|0|/|8]|12]|~15]|0|/[4] O 14| 1.4 | 1.4 0.5 0/ 2]¢<05
T W7 e RVE -3 EvEISt-5 | 628 - 5| A | A 80 (|~[81|0]|/|8|72|~l94|3]|/|8|83|1L1]|~|15]|0f|/|8|12]|~15|0|/[4] O 14| 14| 14 <0.5 0/] 2]<0.5
T W7 K -3 fIvESt-6 | 628 - 6| A | A 80 |~|81|O0|/|8|72|~93|3|/|8|83 |1l ]|~]18|0|/|8|12|~16]0]|/[4] 0 14| 15| 1.6 <0.5 0]/ 2]<0.5
7 bk St-1 628 - 7| A || 81 |~| 81 |O0|/|12] 64|~ 87 |6 |/[12] 75|05 |~ 14]0]|/]12[ 05 [~ 13][0]/]6]| 0 1.0 | 1.1 | 1.2 <0.5 0]/ 65| <1 |~ 1 0/ 6] <1 |~| 1 of(/[6] 0 1 1
7 b4t St-2 628 - 8] A |A| 81 |~|81|0]|/|12] 64 |~| 88 |5 |/|12] 7.5 [<0.5|~| 1.4 | 0| /|12[<05[~| 1.3 0]/|6]| O 1.0 | 1.1 ]| 1.2 <0.5 0/]6]<05| <1 |~ 4 [0]|/|6] <1 |~ 4 [0]/|6] 0 2 4
G — b4 St-3 628 — 9| A |A| 81 |~|81|0|/|12| 64 |~|85 |7 |/|12| 74|05 |~| 1.4]|0]|/|12] 06 |~|13]|0]|/[6] O 1.0 | 1.1 | 1.3 <0.5 0|/]6]<05| <t |~ 3 Jo|/|6] <1 |~ 3 [0]/|6]0 1 3
78— ALV S -1 628 — 10| A |A| 8.0 |~| 81 |0 |/|12| 64 |~[86 |6 |/|12] 75| 05 |~] 1.6 0]|/|12] 06 |~ 14]0]|/[6] O 1.0 | 1.1 | 1.3 0.5 0/]6]<05| <1 |~ 2 Jo|/|6] < |~ 2 [0]/|6] 0 2 2
7 AL St-3 628 — 11| A |A]| 81 |~ 81 ]|0]|/|12]| 64 |~[85 |6 |/|12] 74|06 |~ 14 ]|0[/|12]07 |~ 14]0]|/]|6] 0 1.0 1.0 | 1.2 <0.5 0/ 6]<05] <1 [~| 2 0/]6] <1 |~ 2 0l/]6] 0 1 2
M ALY St-4 628 — 12| A |A| 81 |~| 81 |0 |/|12| 6.3 |~| 86 |8 |/|12]| 7.3 [<05]|~| 1.6 |0 |/|12] 05 |~ 13| 0]|/|[6] O 1.0 | 1.0 | 1.2 <0.5 0/]6]<05| <1 |~ 2 Jo|/|6] <1 |~ 2 [0]/|6] 0 1 2
7 ALV St-7 628 — 13| A |A| 81 |~| 81 |0 |/|12| 64 |~[87 |6 |/|12] 76|06 |~] 1.5]0]|/|12] 07 [~ 15]0]|/[6] 0O 1.1 | 1.1 14 0.5 0|/]6]<05| <1 |~ 5 |0]|/|6] < |~ 5 [0]/|6]0 2 5
78— AL St-11 628 — 14| A |A| 81 |~| 81 |0 |/|12]| 6.4 |~[ 86 |6 |/|12] 7.5 [<05|~| 1.6 |0 |/|12] 05 [~ 14]0]|/[6] O 1.1 | 1.3 1.4 0.5 0/]6]<05| <1 |~] 3 J]0]|/|6] < |~ 3 [0]/|6]0 2 3
T KA St-12 628 - 15| A || 81 |~| 81 |0 |/|12] 65 |~| 87 |5 |/|12] 75 |<05|~| 15| 0|/|12] 05 |~ 15| 0]|/|6]| O 1.0 09| 1.3 <0.5 0/]6]<5| <1 |[~] 14 [0]|/|6]| <1 |[~] 14 [0]|/[6] 0 4 14
7 AL St-13 628 - 16| A || 8.1 |~| 82 |0 |/|12] 65 |~| 9.0 | 6 |/|12] 7.7 {<05|~| 1.8 | 0| /|12] 0.6 [~] 1.8 | 0|/| 6| O 1.1 |10 15 <0.5 0]/ 6]<05| <1 |~]| 2 0of/|6] <1 |~] 2 0Of(/|6] 0 1 2
7 ARV S -1 628 - 17| A |4 8.0 |~ 81| 0|/]| 8| 70|~|96|4]|/[8]|81]07|~18]0[/]8]09|~17]0]|/[4] 0 1.3 ] 1.3 1.5
7 KARTEERSt-2 628 — 18] A |[A| 81 |~[81]0]|/| 8|71 |~[98]|4]/]18]|81[08]|~14]0[/]8]09]|~[14]0]|/]4] 0 1.1 | 1.1 ]| 1.2 <0.5 0|/ 0.5 <1 [~| 1 / < |~] 1 0o/l 2] 0 1 1
F T F PRS- 1 628 — 19| A || 80 |~|81|O0|/|8 |71 |~|94|4|/|8|81|07|~|13|0|/|8|]07|~13]0]|/[4] 0 1.1 ] 1.1 ] 1.2 <0.5 0/ 2]<5| <t |~ 1 Jo|/|2] < |~ 1 [0o]/|2]0 1 1
Tl FT U St-2 628 - 20 A |4 81 |~ 81| 0|/]| 8|71 |~96|4]|/[8]80]07 |~ 13]0[/]8]07|~13]|]0]|/[4] 0 1.0 | 1.0 | 1.0
78— RHFHEISt- 1 628 - 21| A |4 81 |~[ 810/ 8|69 |~[94]|4]|/]8]|80[06 |~12]0[/]8]08]|~1.1]0]|/]4] 0 1.0 | 1.0 | 1.0 <0.5 0/ 2]<05] <1 [~| 3 0/ 2] <1 |~| 3 of/[2] 0 2 3
T PHFHEHT S - 2 628 — 22| A |A| 81 |~|81|O0|/|8|72|~|92|4|/|8|81|06|~|13|0|/|8]|07|~12]0]|/[4] 0 1.0 | 1.1 | 1.2
F T — i ERigSt-1 628 — 23| A || 80 |~|81|O0|/|8|73|~|86|2|/|8|81|12]|~16]|0|/|8|12|~16]0]|/[4] O 1.4 | 1.3 | 1.3
T iE— i ERHRSt-2 628 — 24| A |4 81 |~ 82| 0|/]|8| 74 |~|86|2]|/[8]|81 |11 |~18]0[/]|8]12|~17|0]|/[4] 0 1.5 | 1.5 | 1.7 0.5 0|/ 2]<05| <1 |~ 2 Jo|/|2] < |~ 2 [o0o]|/|2] 0 2 2
7 EEfEEkSt-3 628 - 25| A |4 80 |~[ 810 |/| 8|73 |~[85]|2]|/|8]|80 12|~ 16]|0[/|8] 12|~ 15]|0]|/]4] 0 1.4 | 1.4 | 1.4
F T — i EIRHRSt-4 628 — 26| A |A| 81 |~|81|0|/|8|72|~[86]|2|/|8]|80| 11|~ 15]|0|/|8]|11|~15]0]|/[4] 0 1.3 | 1.3 | 1.3
T — i F U St-1 628 - 27| A |4 80 |~ 81| 0|/]|8|65|~88|3]|/[8]|80]| 10|~ 18]0[/]8] 11 |~16]0]|/[4] 0 1.3 1.3 1.4
7 WE R St-1 628 - 28| A |4 80 |~[81]0]|/| 8|70 |~[88]|4]|/]8]|80 10|~ 16]|0[/|8]10]|~16]|0]|/]4] 0 1.2 | 1.2 ] 1.2 <0.5 0/ 21]<05| <1 |~ <t |o|/|2]| <1 |~ <t |o]|/|2]0 <1 1
% = IR HERSt- 1 628 — 29| A |A| 81 |~|81|O0|/|8 |71 |~|84|2|/|8| 79|11l ]|~]15|0|/|8]| 11 |~l14]0]|/[4] O 13| 14| 1.4
78— W5 R VE - v St-7 | 628 - 30 A || 80 |~|81 |0 |/|8|70]|~|94]|3]|/|8]|83|10|~|16|0|/[8|11]|~l16]|0|/|4] 0 1.4 | 15| 15
7 b0k St-4 628 - 31| A || 81 |~| 81 |0 |/|[12] 63 |~| 86 |7 |/|12] 7.4 [<05|~| 15| 0] /|12] 06 [~ 1.4]0]/]6]| O 1.0 | 1.0 | 1.2
T FPUHESt-3 628 — 32| A |A| 81 |~|81|0|/|8|73|~[95]|1|/|8]|83|08|~]12]0|/]8]09 [~12]0]|/[4] 0 1.0 | 1.0 | 1.0
7 FRHgSt-5 628 - 33| A |14 80 |~|82|0|/|8|75|~|86|0]|/[8|81 |10~ 14]0|/]|8]| 11 |~13|0]|/[4] 0 1.2 ] 1.2 | 1.2
F T ie— i WV St-3 628 - 34| A |4 80 |~|81|0|/]| 8|71 |~|88|4]|/[8]79]09|~16]0[/]8]10]|~16]|0]|/[4] 0 1.2 | 1.1 | 1.2
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K5 ETREBRBITH A AEGFHR

3 K
jﬁ%fi pH DO(mg/L) COD (mg/L) #1745 (mg/L) KM % (CFU/100mL)
il = KE A ML LT

A i RSB geegiok (mo /o0 | SRk [mo /oo | bRk w0 [T T e bk m /o [ R~k | |/ 0 e T T T T
AN N J\ I - PR NS t- 5 629 - 1| B |m| 81 |~| 81 |0|/|8]67|~|89]|0|/|8]79 |12 |~21]0]|/|8|12|~21]0]/]4]| 0 1.6 | 1.5 | 1.7 0.5 0/ 2]¢<05
FREHE RN RS- 1 630 - 1| B |me| 80 |~[83]|0]|/|8]|66|~] 11 |0]|/|8]|84|14]|~28|0|/|8]|14]|~[28|0]|/|4] 0 2.1 2.1 ] 25 <0.5 0f/]2]¢<05
RN T SRS t- 2 630 - 2| B |m| 78 |~|82|0|/|8[63|~[98]0]|/|8|76|16]|~25]|]0|/|8]|17|[~25]0]|/[4] 0 2.2 | 23] 2.5 <0.5 0/] 2]<0.5
R — ISt -2 631 - 1| A|A] 81 |~|81|0|/|8| 71 |~[85]4|/|8|79[10]|~]13]0]|/]8]10(f~[13]0]|/[4] 0 1.2 ] 1.2 | 1.2 0.5 0/]2]<5| <1 |~ <1 |o|/|2] << |~ <cafof|/|2]0 <1 <1
A% WV St-2 631 - 2| A |1 81 |~|81|0|/|8]70]|~|88 |4 |/|8] 79|10 |~|16]|0]|/|8]10([~]16]0]/]4]| O 1.3 ] 1.3 | 1.3
RV F I St-2 631 - 3| A |4 81 |~|82|0|/|8|70|~|87|2]|/|8|80| 10 |~|15]0|/|8]|10]|~|15|0]|/[4]| 0 1.3 1.3 1.4 <0.5 0 /] 2]<05| <1 |~ <t ]Jo|/|2] < |~ <afof|/|2]0 1|«
R 7 ¥ St-3 631 - 4| A |4 80 |~|82|0|/]|8|54|~92|4]|/[8]| 7709 |~ 16]0[/]8]10]|~16]|0]|/[4] 0 1.3 ] 1.2 | 1.3
R G 7V St-4 631 - 5| A|A| 81 |~|82|0|/|8] 71 ]|~|90]|3|/|8]80]| 10 |~|15]|0]|/|8]| 1.0([~]15[0]/]4]| 0 1.3 ] 1.3 ] 1.3
FAE % I\ 1 R NV S t- 1 631 - 6] A |A| 81 |~|82|0|/|8|67 |~ 10]|4|/|8|81 |11 ]|~]17]0]|/|8]|11|~17]0]|/[4] 0 1.3 | 1.3 | 1.4 <0.5 0 /] 2]<05| <1 |~ <t ]o|/|2] < |~ <cafof|/|2]0 <1«
FAE—X J\ B - {5 N VISt - 2 631 - 7| A|A] 81 |~|82|[0|/|8[69 ]|~ 10]4]|/|8]|82[10]|~]16]0]|/|8]10(f~16]0]|/[4] 0 1.3 1.3 | 1.4
R J\ I - R PN S t- 3 631 - 8 A|A| 81 |~|82|0|/|8]73|~97]|3|//8[83[09|~16]|0]|/|8[1.0[~[16]0]/]4]| 0 1.2 | 1.2 ] 13
FRE— % J\ I e - RNV IR St -4 631 - 9| A|A| 81 |~|82|0|/|8|69|~[94|3|/|8|82|10]|~]16]|0|/|8|10|~16]0]|/[4] O 1.3 | 1.3 1.5 <0.5 0|/ 2<05| <1 |~ 2 [of|/]2] <t |~ 2 |0f/|2] 0 2 2
TR I\ - AR NV S t- 6 631 - 10| A |4 81 |~|82|0|/|8|70|~|94|4]|/|8|81 | 10|~ 1.7]0|/|8]|10]|~17|0]|/[4] 0 1.3 ] 1.3 1.5
ERE— =IRMEESt- 1 631 — 11| A |4 80|~ 82|0|/]8|65|~93|[3]|/[8]|80]|11|~16]0[/]|8]12|~16]|0]|/[4] 0 1.4 | 1.4 | 1.5 0.5 0|/ 2]<05| <1 |~ 1 Jo|/|2] < |~ 1 [0o]/|2]0 1 1
SR =RV St-2 631 - 12| A |A]| 81 |~ 820 ]|/|8| 70 (~|90|3|/|8]|81|10]|~[15]0|/|8]10]|~[15]|0]|/|4] O 1.3 ] 1.3 1.3
FAE— % —IfREESt-3 631 - 13| A || 81 |~| 82 |0 |/|8]|65|~|88|2|/|8] 79|10 ]|~|15]|0]|/|8]|1.0(~]14]0]|/|4]| O 1.2 | 1.3 ] 1.3
RV — R BA Py St- 1 631 — 14| A |4 81|~ 82[0|/]|8|70|~89|4]|/[8]79]09 |~ 15]0[/]8]10]|~15]0]|/[4] 0 1.2 ] 1.2 | 1.3
R B VRISt - 2 631 - 15| A |4 81 |~[82]|0|/|8|72|~[88|4]|/|8|79 10|~ 17]0[/|8]10]|~16]|0]|/]4] 0 1.2 | 1.1 | L1 <0.5 0O/ 2]<5| <1 |~ <A ]o]|/|2] << [~ < |0o]/]2]0 <1 <1
RV B vk St - 3 631 — 16| A |A| 81 |~| 82 |0 |/|8 |70 |~[90]|1|/|8]|81|10]|~]15]|0]|/|8]|10(~15]0]|/[4] 0 1.2 ] 1.1 | 1.1
ERVE— R BH 1y St -4 631 - 17| A |4 81 |~ 82| 0|/]| 8|71 |~|89|1]|/[8]|81]09 |~ 14]0[/]8]10]|~14]0]|/[4] 0 1.2 ] 1.2 | 1.2
R B EESt- 1 631 - 18] A |A| 81 |~| 82 |0 |/|8| 74 |~[88]1]|/]8]|81[10]|~]15]0]|/|8]10(f~15]0]|/[4] 0 1.2 1 1.2 ] 1.2
FRE % RS- 2 631 - 19| A |A| 80 |~|82|0|/|8|67|~[97|3|/|8|79|12]|~]18|0|/|8]| 13 |[~18]0]|/[4] 0 15| 1.5 | 1.5 <0.5 0f/|2]<.5] <1 |~| 1 o/l 2] <1 |~| 1 of/l2] o 1 1
RV HHTERSt-3 631 - 20 A |4 80 |~| 82| 0|/|8|67|~94|2]|/[8|80| 11 |~]19]0|/|8]|12]|~19|0]|/[4]| 0 15| 1.5 | 1.5
TR TR St-3 631 - 21| A |4 80 |~ 83| 0|/]|8|62 |~ 10 [3]|/[8]80]| 11 |~18]0[/]8] 11l |~18]0]|/[4] 0 1.5 | 1.5 | 1.7 0.5 o/l 2]<5 1 |~ 1 |0]|/]|2 1 |~ 1 |o]|/]2] o 1 1
A A0 kS t-4 631 - 22| A || 81 |~| 82| 0|/|8]69|~|94]|4|/|8]|80| 11|~ 18]0]|/|8| 11 |[~]18]0]/]4]| 0 1.5 16| 1.8
RO FAIVEER St - 1 631 — 23| A |A| 81 |~|81|0|/|8|66 |~[90]|4|/|8|77|10]|~]16]|0]|/|8]|11|[~16]0]|/[4] 0 1.4 | 1.4 | 1.4
ERVE— R ERVE R B St -2 631 — 24| A |4 81 |~ 83|0|/]8[65|~99|[4]|/[8]| 79|11 |~19]0[/]|8] 11 |~19]0]|/[4] 0 15| 1.5 | 1.6 0.5 0 /] 2]<05| <1 |~ 1 Jo]|/|2] |~ 1 [0o]/|2]0 1 1
R AR B St - 3 631 - 25| A || 81 |~| 83 |0 |/|8]64|~96 |3 |/|8| 77|12 |~19]0]|/|8|13[~19]0]/]4]| 0 1.6 | 1.5 | 1.7
A% PNk S t- 1 631 - 26| A || 81 |~| 820 |/|8]|70]|~|83|3|/|8]| 77|09 |~|12]0]|/|8|10|~]12]0]/|5]| O 1.1 | 1.1 ] 12
FAE— X PNk S t- 2 631 — 27| A |A| 81 |~|82|0|/|8|69|~|92|4|/|8| 78|09 |~|14|0|/|8]09 ~13]0]|/[4] 0 1.2 | 1.3 1.3
RN — X YA R kS t- 3 631 — 28] A || 81 |~| 81 |O0|/|[8]70]|~92]|4|/|8] 79|11 |~16]0]|/|8[12[~[15]0]/]4]| 0 1.4 | 15| 1.5 <0.5 0/l 21]<05] 2 |~| 23 |1]|/]|2 2 |~ 23 | 1|/] 2] 50 13 | 23
R YR BV IR St -4 631 — 29| A |A| 80 |~|82|0|/|8|73|~[99]|4|/|8]|80|09|~|]15]|0|/|8]|]10([~15]0]|/[4] 0 1.3 1.3 1.3
FAE % VYRS Mt St - 1 631 - 30| A |A| 81 |~|83|0|/|8|66 |~[79]|4|/|8|74[09]|~]16]|0]|/|8]|]10([~16]0]|/[4] 0 1.3 | 1.2 | 1.3 <0.5 0|/ 2]<05| <t |~ 1 Jo|/|2] < |~ 1 [0o]/|2]0 1 1
FAE—X VO VSR St - 2 631 - 31| A |A| 81 |~|82|0|/|8|64|~[78]|5]|/|8]|71[09]|~16]0]|/]|8]10([~15]0]|/[4] 0 1.3 1.3] 15
R POV S - 3 631 - 32| A || 81 |~| 83 |0 |/|8]|72|~|82|4|/|8]|76 |10 |~ 17]0]|/|8|11|[~]16]0]/]4]| 0 1.3 ] 1.3 | 1.4
TR VO S t- 4 631 — 33| A |A| 81 |~|82|0|/|8|69|~|81|4|/|8| 76|09 ]|~ 15|0|/|8]|10|~14]0]|/[4] O 1.2 | 1.2 | 1.2
TR = IRFMESt-3 631 — 34| A |4 81 |~ 82| 0|/]|8|72|~96|4]|/[8]81]09|~12]0[/]8]09]|~12]0]/[4] 0 1.1 ] 1.1 | 1.1
TR J\ IR TS « {5 N Vs S t- 7 631 - 35| A |4 81 |~ 82|0|/]|8|73|~95|1]|/[8]82]09|~12]0[/]8]09]|~12]0]|/[4] 0 1.1 ] 1.1 | 1.1
SR RN EERSt-5 631 - 36| A || 81 |~| 820 |/|8]| 71 |~|84|3|/|8] 78|09 |~|13]|0]|/|8|10|~]13]0]|/|4]| O 1.1 | 1.1 | L1
ERVE— R YR St -5 631 - 37| A |4 81 |~| 82| o0|/|8|70|~|81|4]|/|8| 77|09 |~|12]0|/|8]09]|~11|0]|/[4] 0 1.0 | 1.0 | 1.1
R e AL v 3 AIEVEIEESt-1 632 - 1| A |A]| 80 |~| 81 |0 |/|24]| 66 |~|98 |5 |/]|24]| 83|13 |~|25]|6]|/|24]| 14 |~|25]3]|/[12]25 | 1.8 1.7 1.9
KAl v S IBTEIESt-2 632 - 2| A |A]| 80 |~| 81 |0 |/|24] 6.7 |~ 98 |5 |/|24] 82|12 |~ 19]0]|/|24] 1.3 [~]1.9]0]/]12] 0 1.6 | 1.6 | 1.7 0.5 0/]2]<05| <1 |~ <1 |o|/|4] <1 |~ < fof|/|a] o0 <1 <1
Rz At Va3 BT S- 3 632 - 3| A|A| 80 |~|81|0|/|36]| 67 |~|99]|12|/]36]| 82| 1.3 |~|20|0]|/]|36]| 13 |~|17]0]|/[12] O 15| 1.6 | 1.6 <0.5 0/ 2]<05| <t |~ 1 Jo|/|4] <1 |~ 1 [0o]|/|4a] 0 1 1
R e AL v 328 AIEVEIEESt-4 632 - 4| A |4 80 |~ 81| 0]|/]24] 65 |~|97|[8]|/[24] 81| 13|~ 1.7]0[/]24] 14|~ 17]0]|/[12] 0 15| 1.6 | 1.6
KAl v S A TEUEESt-5 632 - 5| A|A]| 80 |~|81]|0]|/|24]| 6.7 |~|94 |8 ]|/|24]| 82|13 |~|26]|1|/]|24| 13 |~|21]1]|/]|12]83 | 1.6 ]| 1.5 | 1.6 <0.5 0O/ 2]<05| <1 |~ <A o]|/|4] <1 |~ < |0o]/]4] 0 <1 1
Fy =Bk PP =B 2T HHESt-6 | 633 - 1| C |w| 7.9 |~| 83 |0 |/|36] 34 |~| 10 |0]|/|[36] 77|09 |~| 14 |2|/]36| 16 ]|~]63]0]|/|12] 0 2.8 1 2.4 3.0
=BT e st (1) [P =82 iiiEEsSt-9 | 634 - 2| C |m| 75 |~| 83 |0 | /|36 35 |~| 96| 0|/|36] 75|09 |~|86|1]|/[36]|1.1|~|46]|0|/]|12] 0 2.4 | 2.1 ] 3.0
= BT ek (3) | =) 2 iiksSt-2 | 635 - 1| B |[m| 7.9 |~| 83| 0| /[36] 3.6 |~[]98 | 1|/|36]76] 1.0[~]29]0]|/[36] 1.2 ]|~]25]0][/]12] 0 1.6 | 1.5 | 1.8 0.5 0/] 2]<0.5
=R e (3) [P =Bz TEESt-5 | 635 - 2| B vl 7.9 |~ 84 | 1| /(36|32 |~| 10 |3]|/|36]| 77|07 |~|46]|2|/[36] 12 |~|31]|1|/|12]83 | 1.8 1.5 1.9 <0.5 0/ 2]¢<05
Ko e T PP =B 2T HHESt-1 | 636 — 1| A |w| 80 |~| 84 | 1 |/]|36] 57 |~| 11 [12]|/[36] 80 | 0.9 |~| 42 |6 |/|36] 1.0 |~| 28 |3 |/|[12]| 25 | 1.6 | 1.5 | 1.7 <0.5 0|/ 2]<05| <t |~] 5 0|/ 4] <1 |~ 5 [0o]|/|4a] 0 2 5
o e SR ¥ =) 2 iTHEsSt-3 | 636 - 2| A |m| 8.0 |~| 83| 0| /(36| 48 |~| 95 |13|/]|36]| 77| 0.8 |~| 3.2 [10|/]|36]| 1.0 |~ 26 |3 ]|/|12] 25 |18 ]| 1.8 2.0 0.5 0|/ 2]<05| 1 |~ 24 |1 |/]4]| 1 |~ 24 |[1]|/]|4] 25 8 24
Kok e SR PP =B 2 THEHSt-8 | 636 - 3| A || 7.9 |~| 84 | 1 |/[36] 3.7 |~| 10 |13|/]36] 78| 08 |~| 35 |4 |/]|36| 1.0|~[25]|2]|/|12]17 |15 | 1.4 | 1.9 0.5 0|/ 2|<05]| <1 |~ 1 [o|/]4] <1 |~ 1 |0f|/]4] 0 1 1
RN 2T e (2) (Y =B i TEkSt-4 | 637 - 1| C |wv| 7.9 |~| 84 | 2 |/|36]| 38 |~ 10 |0]|/|36]| 76| 08 |[~|40]|0]|/[36] 1.0 |~|31|0]|/|12] 0 1.8 | 1.6 | 2.0
= B2 T et (4) [P =B iLESt-7 | 638 - 1| B |w| 7.9 |~| 85| 1 |/|36]| 26 |~ 11 | 3|/|36]| 75|10 |~|52|7]|/]36]| 1.3|~|31|2]|/|12| 17 | 23| 23] 2.8 0.5 0/] 2]<0.5
3 R OKAEAEMIREHE) (HAT :mg/L)

Skl J=)V Tz )—)L LAS
KA 4 HEES | |
B~HK |m / n | FHE T/~ R m / n A CUNA TN m / n SEHIE

Rt Va5 (1) GRS -2 632 — 2 |A=#HEAl<0.001| ~|<0.001] 0 | /| 2 | €0.001 | <0.00006 |~ <0.00006| 0 |/| 2 | <0.00006 | <0.0006| ~ [<0.0006| 0 | / 2 <0.0006
R AL PE S () BRI St-4 632 — 4 |4=WHAl<0.001|~]0.001] 0 | /| 2 | 0.001 [ <0.00006 |~ <0.00006| 0 |/| 2 | <0.00006 | <0.0006| ~ [<0.0006| 0 | / 2 <0.0006
R AL v S SIBTEIESt-5 632 — 5 | WA [<0.001|~0.005| 0 | /| 2 | 0.003 | <0.00006 [~ <0.00006| 0 |/| 2 <0.00006 | <0.0006 | ~ [<0.0006| 0 | / 2 <0.0006
Rt s (1) FTY =B 2iTHE%St-1 | 636 — 1 [Z4=#45A0.001|~0.001] 0 | /| 2 | 0.001 | <0.00006 |~|<0.00006| 0 |/| 2 | <0.00006 |<0.0006| ~ [<0.0006| 0 | / 2 <0.0006
o RS P =51 2 ITHEESt-3 | 636 — 2 | AE4A [0.001|~{0.003| 0 [ /| 2 | 0.002 | <0.00006 |~| <0.00006 | 0 |/| 2 [ <0.00006 | <0.0006| ~ |<0.0006| 0 | / | 2 | <0.0006
K A PP Z B2 ITHEH%ESt-8 | 636 — 3 | ZEMA |0.001[~[0.002| 0 | /| 2 | 0.002 | <0.00006 [~]| <0.00006 | 0 |/| 2 | <0.00006 |<0.0006| ~ [<0.0006] 0 | / 2 <0.0006

m : BRBT I AE 288 2 DR (4K
P B P EO ST

n: iR Ak

X BRBEIEMEICE A L2V B
FIRAE, T5%ME, 90 : A I P-MEDF O H A, 75%1E, 90 % E

v RRHIE H 2




